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YpaBHeHUue NOCKOCTI
npoxoasiLuen yepes3 TOUYKY
nepneHANKYNAPHO
BEKTOpPY




ﬁ(A;B;C)

« M, (x50, ) 77




ﬁ(A;B;C)

o M(x;y;z)
m 71

MM Ln
MM -n=0




MM ={x = X3y = Y32 = 2, |

0

A(x—x0)+ B(y—yo)+ C(z—zo)




Obuiee ypaBHeHME

Ax+By+(Cz+D=0.



A(x—0)+ B(y—O)+C(z+D)=O

C
MO(O;O;—DJ
C

n(A4;B;C)



YpaBHeHWe B OoTpe3Kkax

x—l—y—I—Z—l.

il DO C



YpaBHeHMe NNOCKOCTH
npoxoAasien Yepes TP TOUYKN




o M,(x,;y,52,)

o M (x;y,:2,) *M,(x;y,:2,)
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M, (x,;v,;z M(x;v;2)

2

P Y cyy .
“’11\-"19)/1941} .M3(X3,y3,23)
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M M;M M, ;M M, — komnianaphol

MMxMM, MM, =0

MM ={x—x;y-y;z-2|

M1M2 :{xz — XV, T V2, _Zl}

M1M3 :{x3 — XV T V24, _Zl}
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z,—z,|=0

Vo =W

X, =X

Y=V, Z3—Z

Xy — X
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Yron mexay nioCcKOCTAMI

n -n,

n

COS(Q =
L

AA +BB,+CC,
\/Af +B’+C; \/Aj +B, +C;

2
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YcnoBue napannenbHOCTr

MNIOCKOCTEN

H2¢>n1
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YcnoBue nepneHguKynapHOCTH
NIIOCKOCTEN

mLl, —

nLn=n-n=0
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PaccTtosaaHne OT TOYKMU OO0
NIOCKOCTU

; Ax, +By,+Cz,+D
\/A2+Bz+C2
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